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QUESTION 1

SDH signals must be scrambled before being transmitted over optical fibers. Which of the following bytes are not
scrambled? (Multiple Choice)

A Al
B. A2
C.Jo
D.J1

Correct Answer: ABC

QUESTION 2

Which of the following is not a non-linear effect?
A. Self-phase modulation (SPM)

B. Dispersion

C. Raman scattering

D. Four-wave mixing (FWM)

Correct Answer: B

QUESTION 3

Which of the following factors determines that the optical signal-to-noise ratio (OSNR) at the receive end decreases to a
certain extent After signals are transmitted for a certain distance in a WDM system, the optical signal-to-noise ratio
(OSNR) at the receive end decreases to a certain extent. Which of the following is the main cause?

A. EDFAs are used.

B. Multiplexers and demultiplexers are used.

C. New types of optical fibers are not used.

D. Fiber attenuation is excessively high.

Correct Answer: A

QUESTION 4

For the OSN 3500, there is a slot mapping relationship between processing boards and interface boards. The
processing board in slot 1 maps to the interface board in slot 19-20.
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A. TRUE

B. FALSE

Correct Answer: B

QUESTION 5

The working mode of a port determines the flow control mode of the port. When the working mode is 100 Mbit/s full
duplex, which of the following flow control modes can be used?

A. Auto-negotiation flow control mode

B. Non-auto-negotiation flow control mode
C. Both of the above

D. None of the above

Correct Answer: B
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